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& H Cha Cha

1 Mt —k 2 1 2 2 1 2.0
2 Rl =8 4 2 3 3 4 3.0
3 Ll O ®RE 1 3 1 1 2 1.0
4 Mot #KIE 3 4 4 4 3 4.0
& H Paso Doble

1 Mt —xk 2 1 2 3 1 2.0
2 hi =8 3 2 3 2 4 3.0
3 SLH O ®RE 1 3 1 1 2 1.0
4 Bt #KIE 4 4 4 4 3 4.0
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No ® T K4 C p B BAR

1 FE —R 2 2 4.0 | 2.0

2 hil =8 3 3 6.0 | 3.0

3 SLH O ®RY 1 1 2.0 | 1.0

4 Bt #KIE 4 4 8.0 | 4.0
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1 11146554 | B | #Ft: — FAE BT MZS)IBL B2fr | 2.0 2.0
2 | 11117098 | B | HiL il =R BRI 36 | 3.0 3.0
3 11087350 | B | %M Ky HET IRIR IR I | 1.0 1.0
4 11115453 | B | Mt Ho &7 R R AN | 4.0 4.0
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